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Practice Exercise

1. The curve described parametrically by

 representsx = t2 + t + 1, y = t2 − t + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rYEquOoqB8UC


A. a pair of straight lines

B. an ellipse

C. a parabola

D. a hyperbola

Answer: c

Watch Video Solution

2. Consider a circle with its centre lying on the

focus of the parabola  such that it

touches the directrix of the parabola. Then,

y2 = 2px

https://dl.doubtnut.com/l/_rYEquOoqB8UC
https://dl.doubtnut.com/l/_3WplaV0DSq5n


the point of intersection of the circle and the

parabola is

A.  or 

B. 

C. 

D. 

Answer: a

View Text Solution
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https://dl.doubtnut.com/l/_3WplaV0DSq5n


3. Find the equation of the parabola with

vertex (0,0) and passing through (2,3) and axis

is along the x-axis.

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

x2 = y
9

2

y2 = x
9

2

y2 = x
9

2

x2 = − y
9

2

https://dl.doubtnut.com/l/_s5SXggl5BlzR


4. If  and  are respectively the

vertex and focus of a parabola, then its

equation is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

(0, 4) (0, 2)

x2 + 8y = 16

x2 + 8y = 32

x2 + 16y = 30

x2 − 8y = 32

https://dl.doubtnut.com/l/_mnHHCawkVLAt


5. Find the equation of the parabola whose

axis is parallel to X-axis and which passes

through the point (0,4),(1,9) and (-2,6) . Also,

find its latusrectum.

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution
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https://dl.doubtnut.com/l/_AWhTe4FEgikh


6. PQ is a double ordinate of a parabola


 Find the locus of its points of

trisection.

A. 

B. 

C. 

D. 

Answer: b

y2 = 4ax.

9y2 = 8ax

9y2 = 4ax

25y2y2 = 16ax

3y2 = 4ax

https://dl.doubtnut.com/l/_AWhTe4FEgikh
https://dl.doubtnut.com/l/_5lrXJUkzkJAO


Watch Video Solution

7. A parabola has the origin as its focus and

the line x = 2 as the directrix. Then the vertex

of the parabola is at

A. 

B. 

C. 

D. 

Answer: c

(2, 0)

(0, 2)

(1, 0)

(0, 1)

https://dl.doubtnut.com/l/_5lrXJUkzkJAO
https://dl.doubtnut.com/l/_xUeTOjJ7gVWl


Watch Video Solution

8. If the tangent at the point P  to the

parabola  meets the parabola 

 at Q and R then the mid-point of

QR is

A. 

B. 

C. 

D. 

(2, 4)

y2 = 8x

y2 = 8x + 5

√3y = 3x + 1

√3y = − (x + 3)

√3y = x + 3

√3y = − (3x + 1)

https://dl.doubtnut.com/l/_xUeTOjJ7gVWl
https://dl.doubtnut.com/l/_ecEGJKT3q5tU


Answer: a

Watch Video Solution

9. The equation of the common tangents

touching the circle  and the

parabola  above X-axis, is

A. 

B. 

C. 

D. 

(x − 3)2 + y2 = 9

y2 = 4x

x + y = 2, x − y = 1

x + y = 3, x − y = 2

x + y = 1, 4x − 2y = 1

x + 2y = 1, x + y − 3

https://dl.doubtnut.com/l/_ecEGJKT3q5tU
https://dl.doubtnut.com/l/_emcfrGzVHuwy


Answer: c

View Text Solution

10. Find the equation (s) of the common

tangent(s) to the parabola

 and .

A. 

B. 

C. 

D. 

y2 − 4x − 2y + 5 = 0 y2 = − 4x

x + y = 2, x − y = 1

x + y = 3, x − y = 2

x + y = 1, 4x − 2y = 1

x + 2y = 1, x + y = − 3

https://dl.doubtnut.com/l/_emcfrGzVHuwy
https://dl.doubtnut.com/l/_lknw7H9rCwjy


Answer: c

Watch Video Solution

11. The locus of the mid-point of the chords of

the parabola  which subtend a right

angle at the vertex of the parabola, is

A. 

B. 

C. 

D. 

y2 = 4ax

y2 − 2ax + 8a2 = 0

y2 + 2ax + 8a2 = 0

y2 − 2ax − 8a2 = 0

y2 − ax + 8a2 = 0

https://dl.doubtnut.com/l/_lknw7H9rCwjy
https://dl.doubtnut.com/l/_TLGyz3asgTlr


Answer: a

View Text Solution

12. The equation to the line touching both the

parabolas  and  is

A. 

B. 

C. 

D. 

y2 = 4x x2 = − 32y

1

2

3

2

1

8

2

3

https://dl.doubtnut.com/l/_TLGyz3asgTlr
https://dl.doubtnut.com/l/_BXqq8HB8CgIn


Answer: a

Watch Video Solution

13. Tangents are drawn from (-2,0) to ,

radius of circle(s) that would touch these

tangents and the corresponding chord of

contact, can be equal to

A. 

B. 

C. 

y2 = 8x

4(√2 + 1)

2(√2 − 1)

8√3

https://dl.doubtnut.com/l/_BXqq8HB8CgIn
https://dl.doubtnut.com/l/_fywz1C3doGi3


D. 

Answer: a

View Text Solution

9√2

14. The number of distinct normals that can be

drawn to the parabola  from the point

 is

A. 3

B. 2

y2 = 4x

( , )
11

4

1

4

https://dl.doubtnut.com/l/_fywz1C3doGi3
https://dl.doubtnut.com/l/_sYmHr8NlXhps


C. 1

D. 4

Answer: a

Watch Video Solution

15. Find the locus of the middle points of the

chords of the parabola  which touch

the parabola .

A. 

y2 = 4x

x2 = − 8y

y3 − 2xy − 8 = 0

https://dl.doubtnut.com/l/_sYmHr8NlXhps
https://dl.doubtnut.com/l/_cGX46A6cIvcp


B. 

C. 

D. 

Answer: a

Watch Video Solution

y3 + 2xy − 8 = 0

y3 − 2xy + 8 = 0

y3 − xy − 8 = 0

16. Let P be the point  and Q a point on

the locus . The locus of mid-point of

PQ is :

(1, 0)

y2 = 8x

https://dl.doubtnut.com/l/_cGX46A6cIvcp
https://dl.doubtnut.com/l/_AWQia1ZBvcDG


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x2 − 2xy − 8 = 0

x2 + 4y + 2 = 0

y2 + 4x + 2 = 0

y2 − 4x + 2 = 0

17. If  and the line 

passes through the points of intersection of

the parabolas  and  then :

a ≠ 0 2bx + 3cy + 4d = 0

y2 = 4ax x2 = 4ay

https://dl.doubtnut.com/l/_AWQia1ZBvcDG
https://dl.doubtnut.com/l/_2H2rUa7Fs7QR


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

d2 + (2b + 3c)2 = 0

d2 + (3b + 2c)2 = 0

d2 + (2b − 3c)2 = 0

d2 + (3b − 2c)2 = 0

18. The length of the chord of the parabola

 passing through the vertex and

having slope tan a, is

x2 = 4ay

https://dl.doubtnut.com/l/_2H2rUa7Fs7QR
https://dl.doubtnut.com/l/_wFGhsNCnZ8Uz


A. 

B. 

C. 

D. 

Answer: b

View Text Solution

4a cos ecα cot α

4a tanα secα

4a cosα cot α

4a sinα tanα

19. If P is a point on the ellipse 

whose foci are  and , then 

+ = 1
x2

16

y2

25

S S'

https://dl.doubtnut.com/l/_wFGhsNCnZ8Uz
https://dl.doubtnut.com/l/_0i6IjJHtpqHD


A. 8

B. 7

C. 5

D. 10

Answer: d

Watch Video Solution

PS + PS' = 8.

https://dl.doubtnut.com/l/_0i6IjJHtpqHD


20. The equation of the ellipse whose focus is

(1,-1), directrix  and eccentricity

equals  is :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x − y − 3 = 0

1

2

7x2 + 2xy + 7y2 − 10x + 10y + 7 = 0

7x2 + 2xy + 7y2 + 7 = 0

7x2 + 2xy + 7y2 + 10x − 10y − 7 = 0

7x2 + 2xy + 7y2 + 10x − 10y − 7 = 0

https://dl.doubtnut.com/l/_JUv1YNNpwOzg


21. The number of points outside the ellipse

on major axis from which a normal (other than

X-axis) can be drawn to the ellipse, is

A. 0

B. 3

C. 5

D. none of these

Answer: a

View Text Solution

https://dl.doubtnut.com/l/_A5486wf80V4E


22. The eccentricity of the ellipse with centre

at the origin which meets the straight line

 on the axis of x and the straight

line  on the axis of y and whose

axes lie along the axes of coordinates, is

A. 

B. 

C. 

D. 

Answer: b

+ = 1
x

7

y

2

− = 1
x

3

y

5

1

√2

2√6

7

√3

7

√5

7

https://dl.doubtnut.com/l/_UPW0xZp0w373


Watch Video Solution

23. If tangent at any point P on the ellipse

 cuts the tangent at the end

points of the major axis at the points A and B,

then the circle with AB as diameter passes

through a fixed point whose coordinates are

A. 

B. 

C. 

7x2 + 16y2 = 12

( ± √a2 − b2, 0)

( ± √a2 + b2, 0)

(0, ± √a2 − b2)

https://dl.doubtnut.com/l/_UPW0xZp0w373
https://dl.doubtnut.com/l/_Y7WiqBj0bV4C


D. 

Answer: a

View Text Solution

(0, √a2 + b2)

24. The muinimum area of the triangle formed

by the tangent to  and the

coordinate axes is

A. ab

B. 

+ = 1
x2

a2

y2

b2

a2 + b2

2

https://dl.doubtnut.com/l/_Y7WiqBj0bV4C
https://dl.doubtnut.com/l/_dVA0Wp9zDd60


C. 

D. 

Answer: a

Watch Video Solution

(a + b)
2

2

a2 + ab + b2

3

25. If the angle between the lines joining the

end points of minor axis of an ellipse with its

foci is  then the eccentricity of the ellipse is

A. 

π

2

1/2

https://dl.doubtnut.com/l/_dVA0Wp9zDd60
https://dl.doubtnut.com/l/_efhoAAYfWRcP


B. 

C. 

D. 

Answer: b

View Text Solution

1/√2

√3/√2

1/2√2

26. PQ is a chord of the ellipse through the

centre. If the square of its length is the HM of

the squares of major and minor axes, then find

its inclination with X-axis.

https://dl.doubtnut.com/l/_efhoAAYfWRcP
https://dl.doubtnut.com/l/_uS63mO4YjTgT


A. 

B. 

C. 

D. none of these

Answer: a

View Text Solution

π

4

π

2

2π

3

27. The locus of the foot of prependicular

drawn from the center of the ellipse

 on any tangent to it isx2 + 3y2 = 6

https://dl.doubtnut.com/l/_uS63mO4YjTgT
https://dl.doubtnut.com/l/_ByzpmV3gLV7H


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

(x2 − y2)
2

= 6x2 + 2y2

(x2 − y2)
2

= 6x2 − 2y2

(x2 + y2)
2

= 6x2 + 2y2

(x2 − y2)
2

= 6x2 − 2y2

28. Equation of tangent to the ellipse

 = 1 which cut-off equal intercepts on+
x2

9

y2

4

https://dl.doubtnut.com/l/_ByzpmV3gLV7H
https://dl.doubtnut.com/l/_dF2do9kwrJiY


the axis, is

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

y = x + √3

y = − x + √3

y = − x − √13

y = − x − √3

https://dl.doubtnut.com/l/_dF2do9kwrJiY


29. The equation of tangent to the ellipse

 which is perpendicular to the

line 4y = x - 5, is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x2 + 3y2 = 3

4x + y + 7 = 0

4x + y − 23 = 0

4x + 2y + 5 = 0

4x + y + 23 = 0

https://dl.doubtnut.com/l/_XLLFvJp2R2mm


30. If the line , is tangent

to the ellipse  = 1, then the value of 

 is

A. p

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

x cosα + y sinα = p

+
x2

a2

y2

b2

a2 cos2 α + b2 sin2
α

p2

1

p2

https://dl.doubtnut.com/l/_gGPSHhaG2YEq


31. The length of the common tangent to the

ellipse  = 1 and the circle 

 intercepted by

A. 5

B. 

C. 

D. 

Answer: d

View Text Solution

+
x2

25

y2

4

x2 + y2 = 16

2√7

7

√3

14

√3

https://dl.doubtnut.com/l/_FryR3IBcUSGG


32. The distance of the centre of the ellipse

 to those tangents of the

ellipse which are equally inclined to both the

axes is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x2 + 2y2 − 2 = 0

3

√2

√3/2

√2

3

√3

2

https://dl.doubtnut.com/l/_DnZwrqDSuwoi


33. The ellipse 
 is inscribed
 in a

rectangle aligned with the coordinate axes,

which in turn is inscribed
 in another ellipse

that passes through the point (4, 0). Then the

equation of
 the ellipse is
 (1) 

(2) 
 (3) 
 (4) 

A. 

B. 

x2 + 4y2 = 4

x2 + 16y2 = 16

x2 + 12y2 = 16 4x2 + 48y2 = 48

4x2 + 64y2 = 48

x2 + 12y2 = 16

4x2 + 48y2 = 48

https://dl.doubtnut.com/l/_DnZwrqDSuwoi
https://dl.doubtnut.com/l/_k3fgwlAQJZVO


C. 

D. 

Answer: a

Watch Video Solution

4x2 + 64y2 = 48

x2 + 16y = 16

34. If the chords of contact of tangents from

two
poinst 
and 
to the
ellipse 


 are at
 right angles, then find

the value of 

(x1, y1) (x2, y2)

+ = 1
x2

a2

y2

b2

.
x1x2

y1y2

https://dl.doubtnut.com/l/_k3fgwlAQJZVO
https://dl.doubtnut.com/l/_jURt6FCydbFm


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

a2

b2

−
b2

a2

−
a4

b4

b4

a4

35. If the line 3y = 3x + 1 is a normal to the

ellipse  then the length of the+ = 1
x2

5

y2

b2

https://dl.doubtnut.com/l/_jURt6FCydbFm
https://dl.doubtnut.com/l/_SmWqzkPeYULD


minor axis of the 5 b2 a ellipse is

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

4 or √55
2

2

2 or √55
2

5

3 or √5

11 or √13

https://dl.doubtnut.com/l/_SmWqzkPeYULD


36. If  and  are eccentric angles of the end of

a pair of conjugate diameters of the ellipse

 then  is equal to

A. 

B. 

C. 0

D. none

Answer: a

View Text Solution

θ ϕ

+ = 1
x2

a2

y2

b2
θ − ϕ

±
π

2

±π

https://dl.doubtnut.com/l/_woW3sUJ0mKQQ


37. If the chords of contact of tangents from

two points  and (x_(2),y_(2))

(x^(2))/(5^(2))+(y^(2))/(6)^(2)

(x^(1),x_(2))/(y_(1)y_(2))`

is equal to

A. 

B. 

C. 

D. 

Answer: a

(x1, y1)

→ theellipse

= 1areatright∠sthen

−( )
45

6

( )
46

5

−( )
4

6

5

( )
45

6

https://dl.doubtnut.com/l/_Ypk9XejmLtJm


View Text Solution

38. The equation

 represents

a hyperbola, which one of the following is /are

correct

A. the length of whose transverse axis is

B. the length of whose conjugate axis is 4

C. whose centre is (-1,2)

16x2 − 3y2 − 32x − 12y − 44 = 0

4√3

https://dl.doubtnut.com/l/_Ypk9XejmLtJm
https://dl.doubtnut.com/l/_honRXjmQCxXl


D. whose eccentricity is 

Answer: d

Watch Video Solution

√19/3

39. Let  and 

, where , be two

points on the hyperbola . 


If (h, k) is the point of intersection of the

normals at P and Q, then k is equal to

A. 

P (a secθ, b tan θ)

Q(a secϕ, b tanϕ) θ + ϕ =
π

2

− = 1
x2

a2

y2

b2

a2 + b2

a

https://dl.doubtnut.com/l/_honRXjmQCxXl
https://dl.doubtnut.com/l/_egSyYYRajJq4


B. 

C. `(a^(2)+b^(2))/(b)

D. 

Answer: d

Watch Video Solution

−
a2 + b2

a

−
a2 + b2

b

40. If the foci of the ellipse 
and

the hyperbola 
 coincide

write the value of 

+ = 1
x2

16

y2

b2

− =
x2

144

y2

81

1

25

b2.

https://dl.doubtnut.com/l/_egSyYYRajJq4
https://dl.doubtnut.com/l/_mXCng6aZmdJO


A. 1

B. 5

C. 7

D. 9

Answer: c

Watch Video Solution

41. If two points P and Q on the hyperbola

 whose centre c is such that CP− = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_mXCng6aZmdJO
https://dl.doubtnut.com/l/_FlpfRlNmCyeQ


is perpendicualr to CQ a  b then

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

<

+ = −
1

CP 2

1

CQ2

1

b2

1

a2

+ = −
1

CP 2

1

CQ2

1

a2

1

b2

+ = −
1

CP 2

1

CQ2

1

4a2

1

b2

+ = −
1

CP 2

1

CQ2

1

a2

1

2b2

https://dl.doubtnut.com/l/_FlpfRlNmCyeQ


42. A hyperbola, having the transverse axis of

length 2 , is confocal with the ellipse 

. Then its equation is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

sin θ

3x2 + 4y2 = 12

x2 cos ec2θ − y2 sec2 θ = 1

x2 sec2 θ − y2 cos ec2θ = 1

x2 sin2 θ − y2 cos2 θ = 1

x2 cos2 θ − y2 sin2 θ = 1

https://dl.doubtnut.com/l/_sONYUM8h2frY


43. If  is the eccentricity of the ellipse 

 =1 and  is the eccentricity of the

hyperbola passing through the foci of the

ellipse and  then equation of the

hyperbola is

A. 

B. 

C. 

D. none of these

Answer: b

e1

+
x2

16

y2

25
e2

e1e2 = 1

− = 1
x2

9

uy2

16

− = − 1
x2

16

y2

9

− = 1
x2

9

y2

25

https://dl.doubtnut.com/l/_jEYmwXwCHmnU


View Text Solution

44. Let  be slopes of tengents

from a point  on the hyperbola 

. Find the point from which the

tengents drawn on the hyperbola have slopes

 and positive intercepts on y-

axis.

A. 

B. 

m1  and m2

(1, 4)

− = 1
x2

25

y2

16

|m1|  and |m2|

( − 7, 2)

( − 7, − 3)

https://dl.doubtnut.com/l/_jEYmwXwCHmnU
https://dl.doubtnut.com/l/_z3Mnmpp0DImd


C. 

D. 

Answer: c

Watch Video Solution

( − 7, − 4)

(3, − 7)

45. The area of triangle formed by the lines x-y

=0 x+y=0 and any tangent to the hyperbola

 is

A. 

x2 − y2 = a2

2a2

https://dl.doubtnut.com/l/_z3Mnmpp0DImd
https://dl.doubtnut.com/l/_FdQG1MptaDxA


B. 

C. 

D. 

Answer: c

View Text Solution

6a2

a2

4a2

46.  touches the hyperbola 

, then the point of contact is

A. 

2x + √6y = 2

x2 − 2y2 = 4

( − 2√6)

https://dl.doubtnut.com/l/_FdQG1MptaDxA
https://dl.doubtnut.com/l/_C5BooxUefTTL


B. 

C. 2

D. 

Answer: d

Watch Video Solution

( − 5, 2√6)

( , )
1

2

1

√6

(4, − √6

47. The common tangent to 

and  is

A. 

9x2 − 4y2 = 36

x2 + y2 = 3

y − 2√3x − √39 = 0

https://dl.doubtnut.com/l/_C5BooxUefTTL
https://dl.doubtnut.com/l/_LdV4Ju4adY8R


B. 

C. 

D. none of these

Answer: a

View Text Solution

y + 2√3x + √39 = 0

y − 2√3x + √39 = 0

48. The locus of the points of intersection of

perpendicualr tangents to  is

A. 

− = 1
x2

16

y2

9

x2 − y2 = 7

https://dl.doubtnut.com/l/_LdV4Ju4adY8R
https://dl.doubtnut.com/l/_bfVIWOE9N2S9


B. 

C. 

D. 

Answer: d

Watch Video Solution

x2 − y2 = 25

x2 + y2 = 25

x2 + y2 = 7

49. A tangent to the hyperbola 

meets x-axis at P and y-aixs at Q. Lines PR and

QR are drawn such that OPRQ is a rectangle

(where O is origin).Find the locus of R.

x2 − 2y2 = 4

https://dl.doubtnut.com/l/_bfVIWOE9N2S9
https://dl.doubtnut.com/l/_KgqiDJuIfKrp


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

+ = 1
4

x2

2

y2

− = 1
2

x2

4

y2

+ = − 1
2

x2

4

y2

− = 1
4

x2

2

y2

50.  is a point on the hyperbola 

,  is the foot of the

P

− = 1
x2

a2

y2

b2
N

https://dl.doubtnut.com/l/_KgqiDJuIfKrp
https://dl.doubtnut.com/l/_65prCN5ao1JR


perpendicular from  on the transverse axis.

The tangent to the hyperbola at  meets the

transverse axis at . If  is the centre of the

hyperbola, then .  is equal to

A. 9

B. 4

C. 

D. none

Answer: a

Watch Video Solution

P

P

T O

OT ON

e2

https://dl.doubtnut.com/l/_65prCN5ao1JR


51. Tangents are drawn from points on the

hyperbola  =1 to the circle

 the locus of the mid point of the

chord of contact is

A. 

B. 

C. 

D. 

Answer: c

−
x2

9

y2

4

x2 + y2 = 9

x2 + y2 = −
x2

9

y2

4

(x2 + y2) = −
x2

9

y2

4

(x2 + y2) = 81 −
x2

9

y2

4

(x2 + y2) = 9 −
x2

9

y2

4

https://dl.doubtnut.com/l/_65prCN5ao1JR
https://dl.doubtnut.com/l/_HJkoohrhHpab


View Text Solution

52. The equation of a tangent to the hyperbola

, parallel to the line 

is

A. 

B. 

C. 

D. 

Answer: b

3x2 − y2 = 3 y = 2x + 4

y = 3x + 4

y = 2x + 1

y = 2x − 2

y = 3x + 5

https://dl.doubtnut.com/l/_HJkoohrhHpab
https://dl.doubtnut.com/l/_cEgXr9tW21Xk


Watch Video Solution

53. Chords of the hyperbola 

touch the parabola . The locus of

their middle point is the curve …………..

A. 

B. 

C. 

D. 

Answer: b

x2 − y2 = a2

y2 = 4ax

y2(x − a) = 2x2

y2(x − a) = x3

y2(x − a) = x4

y2(x + a) = x3

https://dl.doubtnut.com/l/_cEgXr9tW21Xk
https://dl.doubtnut.com/l/_FoCtxbfAPwX5


Watch Video Solution

54. Find the product of the length of

perpendiculars drawn from any point
 on the

hyperbola 
 to its

asymptotes.

A. 

B. 

C. 

D. 2

x2 − 2y2 − 2 = 0

1

2

2

3

3

2

https://dl.doubtnut.com/l/_FoCtxbfAPwX5
https://dl.doubtnut.com/l/_kdiDi9IyivK5


Answer: b

Watch Video Solution

55. If x=9 is the chord of contact of tangents of

 then the equation of the

corresponding tangents is

A. 

B. 

C. 

D. 

x2 − y2 = 9

9x2 − 8y2 + 18x + 9 = 0

9x2 − 8y2 − 18x + 9 = 0

9x2 − 8y2 − 18x − 9 = 0

9x2 − 8y2 + 18x − 9 = 0

https://dl.doubtnut.com/l/_kdiDi9IyivK5
https://dl.doubtnut.com/l/_1ckWEH6u1j1H


Bitsat Archives

Answer: b

View Text Solution

1. The locus of the points of intersectino of the

tangents at the extremites of the chords of

the ellipse  which touches the

ellipse  is

A. 

x2 + 2y2 = 6

x2 + 4y2 = 4

x2 + y2 = 4

https://dl.doubtnut.com/l/_1ckWEH6u1j1H
https://dl.doubtnut.com/l/_9HEAwJw6Yepo


B. 

C. 

D. 

Answer: c

View Text Solution

x2 + y2 = 6

x2 + y2 = 9

x2 + y2 = 9

2. A variable chord PQ of the parabola

 subtends a right angle at the vertex.

The locus of the points of intersection of the

normals at P and Q is the parabola

y2 = 4ax

https://dl.doubtnut.com/l/_9HEAwJw6Yepo
https://dl.doubtnut.com/l/_qVwidRdEljyY


A. a parabola

B. a hyperbola

C. a circle

D. none of the above

Answer: a

Watch Video Solution

3. The foci of the conic

 are :25x2 + 16y2 − 150x = 175

https://dl.doubtnut.com/l/_qVwidRdEljyY
https://dl.doubtnut.com/l/_UnFmTzxMV5jF


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

(0 ± 3)

(0 ± 2)

(3 ± 3)

(0 ± 1)

4. The radius of the circle passing through the

foci of the ellipse  and having+ = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_UnFmTzxMV5jF
https://dl.doubtnut.com/l/_HDBa3fHjWJLA


its centre (0, 3) is

A. 4

B. 

C. 

D. 

Answer: a

Watch Video Solution

3

7

√12

7
2

https://dl.doubtnut.com/l/_HDBa3fHjWJLA


5. If OAB is an equilateral triangle inscribed in

the parabola  with O as the vertex,

then the length of the side of OAB is

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

y2 = 4ax

△

8a√3

4a√3

2a√3

a√3

https://dl.doubtnut.com/l/_rJntfoFLlcLk


6. If the length of the major axis of the ellipse

 is three times the

length of minor axis, its accentricity is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

( ) + ( ) = 1
x2

a2

y2

b2

1

3

1

√3

√
2

3

2√2

3

https://dl.doubtnut.com/l/_jW1wFJ8LN4Fy


7. Let S and T be the foci of the ellipse

 and be an end of the minor

axis. If STB is an equilateral triangle, then

eccentricity of the ellipse is

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

+ = 1
x2

a2

y2

bh2

1

4

1

3

1
2

√
3
2

https://dl.doubtnut.com/l/_A5ZIRNtw7gcM


8. The difference of the focal distances of any

point on the hyperbola is equal to its

A. latusrectum

B. eccentricity

C. length of the transverse axis

D. half the length of the tranverse axis

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_A5ZIRNtw7gcM
https://dl.doubtnut.com/l/_JmbbA5jv0bRA


9. If the focus of a parabola is at (0, -3) and its

directrix is y = 3, then its equation is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x2 = − 12y

x2 = 12y

y2 = − 12y

y2 = 12x

https://dl.doubtnut.com/l/_JmbbA5jv0bRA
https://dl.doubtnut.com/l/_36XmJwziYSJ4


10. The length of tangent from (5,1) to the

circle  is

A. 81

B. 29

C. 7

D. 21

Answer: c

Watch Video Solution

x2 + y2 + 6x − 4y − 3 = 0

https://dl.doubtnut.com/l/_3GudTc2Pu8S5
https://dl.doubtnut.com/l/_Vut3OCtsRmM1


11. The length of the latus rectum of the

parabola 

is

A. 

B. 

C. 

D. none

Answer: c

Watch Video Solution

169{(x − 1)2 + (y − 3)2} = (5x − 12y + 17)2

14
13

12

13

28

13

https://dl.doubtnut.com/l/_Vut3OCtsRmM1


12. If the centre, one of the foci and semi-major

axis of an ellipse are (0,0), (0,3) and 5, then its

equation is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

+ = 1
x2

16

y2

25

+ = 1
x2

25

y2

16

+ ( = 1
x2

9

y2

25

https://dl.doubtnut.com/l/_Vut3OCtsRmM1
https://dl.doubtnut.com/l/_BLQ4sRr1jfre


13. The radius of the director circle of the

hyperbola  is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

− = 1
x2

a2

y2

b2

(a − b)

√a − b

√a2 − b2

√a2 + b2

https://dl.doubtnut.com/l/_BLQ4sRr1jfre
https://dl.doubtnut.com/l/_iEkOZpXnm0Az


14. The equation of the chord of 

which is bisected at (2, - 3), is

A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

y2 = 8x

4x + 3y = 1

4x − 3y = 1

4x + 3y = 9

https://dl.doubtnut.com/l/_5yQB05FNmTxo
https://dl.doubtnut.com/l/_SQvPpHh7wbcr


15. Show that all chords of the curve


 which subtend a

right angle at the origin, pass through a fixed

point. Find
the coordinates of the point.

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

3x2 − y2 − 2x + 4y = 0,

(1, 2)

(1, − 2)

( − 1, 2)

( − 1, 2)

https://dl.doubtnut.com/l/_SQvPpHh7wbcr


16. The line  meets the ellipse 

 in real points if

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

y = bt

+ = 1
x2

a2

y2

b2

|t| ≤ 1

|t| > 1

|t| < 3

|t| < 4

https://dl.doubtnut.com/l/_SQvPpHh7wbcr
https://dl.doubtnut.com/l/_wWYvezmwVljO


17. The distance between the foci of the

hyperbola  is

A. 4

B. 6

C. 8

D. 10

Answer: c

View Text Solution

x2 − 3y2 − 4x − 6y − 11 = 0

https://dl.doubtnut.com/l/_khBj7HxO26iV
https://dl.doubtnut.com/l/_hf9bt2oDIevh


18. The length of the common chord of the

ellipse  and the

circle is ......

A. 0

B. 

C. 4

D. 5

Answer: a

Watch Video Solution

+ = 1
(x − 1)

2

9

(y − 2)
2

4

(x − 1)
2

+ (y − 2)
2

= 1

√3

https://dl.doubtnut.com/l/_hf9bt2oDIevh
https://dl.doubtnut.com/l/_kXQPxhGb6Q6o


19. For hyperbola which

of the following remains constant with change

in 

A. abscissae of veritces

B. abscisae of foci

C. eccentricity

D. directrix

Answer: b

Watch Video Solution

− = 1
x2

cos2 α

y2

sin2 α

α

https://dl.doubtnut.com/l/_kXQPxhGb6Q6o


20. The equation of the parabola with its

vertex at (1, 1) and focus (3, 1) is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

(x − 1)2 = 8(y − 1)

(y − 1)2 = 8(x − 3)

(y − 1)2 = 8(x − 1)

(x − 3)2 = 8(y − 1)

https://dl.doubtnut.com/l/_aOiDFEDnWZ6N
https://dl.doubtnut.com/l/_c5AsxpBnhOC7


21. The ends of the latusrectum of the conic

 are

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x2 + 10x − 16y + 25 = 0

3, − 4), (13, 4)

( − 3, − 4), (13, − 4)

(3, 4), ( − 13, 4)

(5, − 8), ( − 5, 8)

https://dl.doubtnut.com/l/_c5AsxpBnhOC7


22. The equation to the hyperbola having its

eccentricity 2 and the distance between its

foci is 8 is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

− = 1
x2

12

y2

4

− = 1
x2

4

y2

12

− = 1
x2

8

y2

2

− = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_iqC3SvPlrQ1t


23. The sum of the focal distances of any point

on the conic  =1 is

A. 10

B. 9

C. 41

D. 18

Answer: a

Watch Video Solution

+
x2

25

y2

16

https://dl.doubtnut.com/l/_hS3QfQmbL9pu
https://dl.doubtnut.com/l/_wDd8VLB54B23


24. The equation of a parabola which passes

through the point of intersection of a straight

line  and the circel 

 is

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

x + y = 0

x2 + y2 + 4y = 0

y2 = 4x

y2 = x

y2 = 2x

https://dl.doubtnut.com/l/_wDd8VLB54B23


25. The point (4, -3) with respect to the ellipse

A. lies on the cureve

B. is inside the curve

C. is outside the curve

D. is focus of the curve

Answer: c

Watch Video Solution

4x2 + 5y2 = 1

https://dl.doubtnut.com/l/_wDd8VLB54B23
https://dl.doubtnut.com/l/_Md3GdEwxVsvp


26. The tangents from a point  to the

hyperbola  inculde an

angle equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

(2√2, 1)

16x2 − 25y2 = 400

π/2

π/4

π

π/3

https://dl.doubtnut.com/l/_PiHnpkFBzvwx


27. The equation of a straight line drawn

through the focus of the parabola 

at an angle of  to x axis is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

y2 = − 4x

120∘

y + √3(x − 1) = 0

y − √3(x − 1) = 1

y + √3(x + 1) = 0

y − √3(x + 1) = 0

https://dl.doubtnut.com/l/_pZ16R3HcZzrq



